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Z0OOLOGY — GENERAL
Paper : CC/ GE-2
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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|English Version]

The figures in the margin indicate full marks.

Answer any five questions : 2x5
(a) What is “Sweat gland”?

(b) What is “Thecodont”?

(c) Define gastrulation.

(d) What is foramen ovale?

(e) What is Pronephric Kidney?

(f) Write the function of Sertoli cells.

(g) Name the parts of mammalian Ruminant stomach.

(h) What is venous heart?

. Write short notes on (any two) : 5x2

(a) Mammalian heart
(b) Swim bladder

(c) Acrosome Reaction
(d) Fate map

(e) Morphogenetic movement.

. Answer any three questions of the following : 10x3

(a) What is ‘Air sac’? Mention the position of major and accessory air sacs present in Pigeon.
Comment on the role of air sacs. 2+6+2

(b) Distinguish between opercular and septal gills. Describe double circuit heart with diagram.
4+(4+2)

(¢) Elucidate Oogenesis with proper diagram. What is polyspermy? Describe any one process to block
polyspermy in Sea-urchin. (3+2)+2+3
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(d) Write the difference between holoblastic and meroblastic cleavage. Comment on the role of yolk in
cleavage. Describe the structure of a mature sperm with diagram. 2+2+(4+2)

(e) What is Placenta? Classify Placenta according to the number and distribution of chorionic villi.
Mention two functions of placenta. 2+6+2

(f) Explain the structure of mammalian hair with proper diagram. Describe the types of mammalian
teeth. (3+2)+5

(g) What do you mean by emboly and epiboly? What is spermiogenesis? Describe the process of
spermatogenesis with proper diagram. 4+2+(3+1)



